JIiE {2 =k No K% K&hT sCE% BEf [EZE#
1[3km /NEESFELF | 3236 [dL/F B FE21N\T S 0:12:03|FB R 24
2[3km INEEEFELF | 3201 [EF HiE Ah/ <O 0:12:07(Fa 8 24
3[3km INEEEFELF | 3244 [ERJI FR NtHT =H 0:12:40(FiB8 8 24
Al3km INEEEFELF | 3225 [BE S BHINS AF 0:12:41(FBE 24
5[3km /INEEESFELF | 3216 [AH HHIE B4 1F 0:13:15(Fa 8 24
6[3km NFEESFELF | 3206 |HF ZEFT 2FHh 25 0:13:35|FR R 24
7|13km NFAESFELXF | 3239 |5F KiE AHhYD MEH 0:13:47(FaE 24
8[3km INEEEFELF | 3234 [ERJI EFE NtHT Hhk 0:13:54|FBa 8 24
9[3km /INEEESFELTF | 3208 [ KF EHE TAOF <A 0:13:56[Fa 8 24
10|3km /NEESFELF | 3215 [BHO EF tX5F I 0:13:57|FB R 24
11|3km /INEESFELF | 3237 [P E Fl3f JHS YX 0:14:34|FMB R 24
12[3km INEESFELF | 3220 B XKWL X S4F 0:14:44|FiBa 8 24
13[3km INEESFELF | 3207 [WIEf BED 7N EF4 0:14:46|FiBa 8 24
14|3km INEESFELF | 3241 [F#IL FAK TILYT AA 0:15:27|FB R 24
15[3km INFEEEFEELRF | 3252 |51l FHi SFHAHT ik 0:15:38 24
16[3km /NEESFELF | 3209 [15)I] R AHT T3 0:15:43|Fa 8 24
17[(3km INEESFELF | 3210 [afE ZEB aVk \YIF 0:15:46|Fia 8 24
18[3km NEESFELF | 3231 [##A = AR Yy 0:16:03(Fia 8 24
19|3km INEESFELF | 3246 [FLK BC +ER LT 0:16:03|FBE 24
20[3km NFESFFELF | 3253 (A EP AN SR 0:16:06 24
21|3km /INEEESZELF | 3240 [fEO tiE EJF FF= 0:17:11[FBE 24
22|3km INEEEFELF | 3229 [EE £F Yo //H 0:17:17(FBE 24
23[3km INEEESFELTF | 3242 (BRIl EB INYAHTD 7D 0:17:40(FiBa 8 24
24[3km INFPEEFELF | 3204 [#5K WE ARAE THN 0:18:54|Fia 8 24




